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UNIVERSITY OF NORTH BENGAL 

B.A./B.Sc. Programme 2nd Semester Examination, 2022 

DSC1/2/3-P2-GEOGRAPHY 
HUMAN GEOGRAPHY 

OLD SYLLABUS 
Time Allotted: 2 Hours Full Marks: 40 

The figures in the margin indicate full marks. 

 SECTION-I
 িবভাগ-ক 
 [k.M&I 

1. Define any five from the following: 1×5 = 5

 িনmিলিখত �য-�কান পাঁচিটর  উtর দাওঃ 

 rydk dquS ik¡pykbZ ifjHkkf’kr xuqZgksl~ %

(a) Man-Land Ratio 
 মানুষ-জিম অনুপাত 

 Ekkful Hkweh vuqikr 

(b) Over Population 

 অিতিরk জনসংখয্া 
 Ck<+h tula[;k 

(c) Cultural Region 

 সাংskিতক অĀল 

 lkaLÑfrd {ks= 

(d) Ecumene 
 বসবাসেযাগয্ পৃিথবী 
 ^bdq;qfeu* 

(e) Population Explosion 

 জনিবেsারণ 

 Tkula[;k foLQksV 
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(f) Cephalic Index 
 �সফািলক সূচক 

 ^lsQkfyd* lwpdkad 

(g) Mongoloid Race 

 মেñালেয়ড জািত 

 eaxksyksbM tkfr 

(h) Population Density. 
 জনঘনt। 

 Tkula[;k ?kuRoA 
  

 SECTION-II 
 িবভাগ-খ 

 [k.M&II 

2. Answer any three from the following: 5×3 = 15
 িনmিলিখত �য-�কান িতনিটর  উtর দাওঃ 

 dquS rhuoVk iz”udks mÙkj ys[uqgksl~ % 

(a) Discuss the Content of Human Geography. 5

 মানবীয় ɛেগােলর িবষয়বst আেলাচনা কর। 

 ekuo Hkwxksydks lkexzhckjs ppkZ xuqZgksl~A 

(b) What are the causes of uneven distribution of population in India? 5

 ভারতবেষ� অসম জনসংখয্া বĊেনর কারণgিল উেlখ কর। 

 Hkkjrek tula[;kdks vleku forj.kdks dkjd ds gks \ 

(c) Write the differences between Emigration and Immigration. 5
 বিহঃপিরbাজন এবং অnঃপিরbাজেনর মূল পাথ�কয্gিল আেলাচনা কর। 

 mRizokl j vkizokldks chpdks fHkérk ys[uqgksl~A 

(d) Write an account on major races in India. 5

 ভারতবেষ�র মুখয্ নৃ-�গাŸী সmেক� আেলাচনা কর। 

 Hkkjrdk izeq[k tkfrokjs ys[uqgksl~A 

(e) Write a short note on optimum population. 5

 কাময্ জনসংখয্ার ধারণা সmেক� আেলাচনা কর। 

 b’Vre tula[;kek NksVks fVIi.kh ys[uqgksl~A 
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 SECTION-III 
 িবভাগ-গ 

 [k.M&III 

3. Answer any two questions from the following: 10×2 = 20

 িনmিলিখত �য-�কান dিট  pেűর উtর দাওঃ 

 dquS nqboVk iz”udks mÙkj ys[uqgksl~ % 

(a) Critically analyse the population-Resource regions of Ackerman. 10
 অয্াকারময্ান pদt জনসংখয্া-সmদ অĀলgিলর একিট পয�ােলাচনা উপsাপন কর। 

 Ackerman dks tula[;k {ks=dks vkykspukRed fo{ys’k.k xuqZgksl~A 

(b) Write a brief account of the major religions in India. 10

 ভারতবেষ�র মুখয্ ধম�ীয় �গাŸীgিল সmেক� আেলাচনা কর। 

 Hkkjr dks izeq[k /keZdks laf{kIr fooj.k xuqZgksl~A 

(c) Discuss the trend of population growth in India. 10
 ভারতবেষ�র জনসংখয্াবৃিdর গিত-pkিত সmেক� আেলাচনা কর। 

 Hkkjrek tula[;k o)̀dks izof̀Ùkokjs ys[uqgksl~A 

(d) Discuss the major problems related to over and under population with suitable 
examples. 

10

 অিতজনসংখয্া ও slজনসংখয্ার সেñ সmক�যুk সমসয্াgিল উদাহরণসহেযােগ আেলাচনা কর। 
 oslh vfrde tula[;k l lEcfU/kr eq[; leL;kckjs mfpr mnkgj.k lfgr NyQy 

xuqZgksl~A 

 ——×—— 
 

 


